70

60

50

40

30

20

10

0

Run 5844 quartetwise, Asyms0 (Raw): All

quartetwize_asymi
— Entries 2466
[ Mean ~0.01407
- Std Dev 3.435
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Run 5844 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Entries 0
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Run 5844 quartetwise, Asyms0 (Raw): Beam OFF
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Run 5844 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Entries 0
Mean 0
Std Dev 0
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Run 5844 quartetwise, Difts0: All

guartetwise diff0
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Run 5844 quartetwise, Diffs0: Beam OFF
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Run 5844 quartetwise, Diffs0: Beam ON, Laser OFF
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Entries 0
Mean 0
Std Dev 0




B0

70

60

50

40

30

20

10

Run 5844 quartetwise, NegHelAccO/NSamplesQ: All
quartetwize_negHQ
- Entries 2466
— Mean 6.923
— Std Dev  0.07684
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Run 5844 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
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Run 5844 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF
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guarebwise_bsamd negkll

Entries 2466
Mean 6.923
Std Dev  0.07684
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Run 5844 quartetwise, NegHselAcclVNSamples: Beam ON, Laser OFF
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Run 5844 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO

Entries 2466
Mean 6.923
Std Dev  0.07766
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Run 5844 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Entries 0
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Run 5844 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd

Entries 2466
Mean 6.923
Std Dev  0.07766
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Run 5844 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Entries 0
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Run 5844 quartetwise, Sums0: All

quartetwize_summbD
— Entries 2466
— Mean 13.85
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Run 5844 quartetwise, Sums0: Beam ON, Laser ON
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Run 5844 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd
— Entries 2466
— Mean 13.85
— Std Dev 0.147
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